It’s Your Best Interest

 Answer Key

Simple Interest



Loan amount
   x
Rate of Interest   
= 
Interest paid

Bank 1

   $25,000
   x
          .080           
=
____$2,000 _



Interest each yr. x   
       Term

=
Total Interest



__$2,000___     x                  5

=
____$10,000
Loan amount
   x
Rate of Interest   
= 
Interest paid

Bank 2

   $25,000
   x
          .095           
=
____$2,375_



Interest each yr. x   
       Term

=
Total interest



__$2,375___     x                  5

=
____$11,875
Loan amount
   x
Rate of Interest   
= 
Interest paid

Bank 3

   $25,000
   x
          .070           
=
____$1,750


Interest each yr. x   
       Term

=
Total interest



__$1,750___     x
          5

=
____$8,750_

Exact Interest Method



Loan amount
   x
Rate of Interest   x   Time 
= 
Total interest

Bank 1

   $25,000
   x
          .080           x  85/365
=
___$465.75__



Loan amount
   x
Rate of Interest   x   Time 
= 
Total interest

Bank 2

   $25,000
   x
          .095           x  30/365
=
___$195.21__



Loan amount
   x
Rate of Interest   x   Time 
= 
Total interest

Bank 3

   $25,000
   x
          .070           x  67/365
=
___$321.23__

Ordinary Interest Method



Loan amount
   x
Rate of Interest   x   Time 
= 
Total interest

Bank 1

   $25,000
   x
          .080           x  85/360
=
___$472.22__



Loan amount
   x
Rate of Interest   x   Time 
= 
Total interest

Bank 2

   $25,000
   x
          .095           x  30/360
=
___$197.92_



Loan amount
   x
Rate of Interest   x   Time 
= 
Total interest

Bank 3

   $25,000
   x
          .070           x  67/360
=
___$325.69__

